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arc radius 7 cm

shading

M1 all construction arcs A1 line accurate +1°
or B1 accurate but no construction seen

M1 all construction arcs A1 line accurate
+1mm or B1 accurate but no construction seen

ignore additional lines
ignore arc continuing outside the triangle
below (a)(i) and left of (a)(ii) and right of arc
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Perpendicular bisector of EG
M1 arcs A1 £1°, £1cm
(or B1 if accurate and no arcs)

Angle bisector of GFH...(60°)
M1 arcs A1 £1°

(or B1 if accurate and no arcs)
but must be an angle bisector
11°






